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SOLUTION OF TRIANGLES

Level |

1. If the angles of a triangle are in the ratio

1:2: 3, then the sides are in the ratio :


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AI7siRKV8tqY

Al:,/3:2
B./3:1:2
C.v/3:4/2:1
D.1:4/3:4/2

Answer: A

o Watch Video Solution

2. Let the angles A, B,C of AABC be in

A. P. andletb:c = /3:+/2,then angle A'is :


https://dl.doubtnut.com/l/_AI7siRKV8tqY
https://dl.doubtnut.com/l/_agK4up9yF527

A.45°

B.60°

C.75°

D. None of these

Answer: C

° Watch Video Solution

3.If b=3,c =4, B = 607, then the number

of triangles that can be constructed is


https://dl.doubtnut.com/l/_agK4up9yF527
https://dl.doubtnut.com/l/_aQy70k7Zyujm

A. nil

B.1

C.2

D. infinitely many

Answer: A

° Watch Video Solution

4. If the angles of a triangle are in the ratio

2:3:7,then sides are in the ratio of


https://dl.doubtnut.com/l/_aQy70k7Zyujm
https://dl.doubtnut.com/l/_asl5ZOWc4Kmz

Am:2:(y/3+1)

B.4/2:2: (/3 + 1)

C.v2:(v/3+1):2
2: (v3+1):4/2

Answer: B

° Watch Video Solution

5.1f in a triangle ABC, 2cos A = sin B cos ecC,

then :


https://dl.doubtnut.com/l/_asl5ZOWc4Kmz
https://dl.doubtnut.com/l/_awKQZx0kw2aU

B.b = c

C.c=a

D. 2a = be
Answer: C

o Watch Video Solution

6.1f A =a?— (b—c)’, where A is area of

AABC,then tan A is


https://dl.doubtnut.com/l/_awKQZx0kw2aU
https://dl.doubtnut.com/l/_3X0lwUpqiCEe

A.15/16
B.8/17
c.8/15

D.1/2

Answer: C

o Watch Video Solution

7.1n a triangle ABC, angle B = 60°, then

A (a —b)° +ab=¢


https://dl.doubtnut.com/l/_3X0lwUpqiCEe
https://dl.doubtnut.com/l/_wkhljnxR8Iw5

B.(b—¢)® + bc=¢?
C.(c—a)’ +ca="b

D.a’? + b + & = 2% + ac

Answer: C

o Watch Video Solution

8.Ina AABC, if a + b = 3¢, then the value of
A B

cot. —cot. — is
2 2

Al


https://dl.doubtnut.com/l/_wkhljnxR8Iw5
https://dl.doubtnut.com/l/_rzyBKCwagukx

B. 2

C.3

D.4

Answer: B

o Watch Video Solution

9.If the sides a,b,c of a triangle are in AP, then

C
the value of cot. ?cot. > IS

Al


https://dl.doubtnut.com/l/_rzyBKCwagukx
https://dl.doubtnut.com/l/_mG3j4rzdOOk9

B. 2

C.3

D.4

Answer: C

o Watch Video Solution

10. In a triangle ABC, if /B = 60°, then the

expression (a + b+ c¢)(a — b+ ¢) is

A. 3ab


https://dl.doubtnut.com/l/_mG3j4rzdOOk9
https://dl.doubtnut.com/l/_bPSmWMtOyJLW

B. 3bc

C. 3ca

D. 3abc

Answer: C

o Watch Video Solution

1. Ther perimeter of a triangle is 6 times the
AM of the sines of its angles . If sides a = 1,

then angle A is


https://dl.doubtnut.com/l/_bPSmWMtOyJLW
https://dl.doubtnut.com/l/_1UfVCICpIKgP

A.m/6
B.m/4
C.mw/3

D. 7 /2

Answer: A

o Watch Video Solution

12.In a triangle ABC, if a cos A = bcos B, then

the triangle is


https://dl.doubtnut.com/l/_1UfVCICpIKgP
https://dl.doubtnut.com/l/_lRofWbOr5SOp

A. isosceles

B. equilateral

C.right-angled isosceles

D. None of these

Answer: C

o Watch Video Solution

13. If the lengths of the sides of a triangle are

3, 4 and 5 units then R (the circumradius) is


https://dl.doubtnut.com/l/_lRofWbOr5SOp
https://dl.doubtnut.com/l/_mmKPx59eW7Lr

A.2.0

B.3.0

C.2.5

D. 3.5

Answer: C

o Watch Video Solution

14. The expression :

(a+b+c)(b+c—a)(ct+a—b)(a+b—c)

4b? c2


https://dl.doubtnut.com/l/_mmKPx59eW7Lr
https://dl.doubtnut.com/l/_deoBd0BUW9Ir

A. cos® A

B.sin® A

C.cos 2A

D.1 —cos A

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_deoBd0BUW9Ir

15. In AABC,a =4,b =12, B = 60°, then

the value of sin A is :

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_qflarUqEiZj9
https://dl.doubtnut.com/l/_OucJ9ayp3bFd

16. If H is the orthocentre of AABC , then

AH is

A.bcot A

B.otA

C.acot A

D.acot B

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_OucJ9ayp3bFd

2
17. In AABC, a =2, b=3 and sinA = 3

then B is

A.60°

B.120°

C.30°

D.90°

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6OUWJ3RddM9m
https://dl.doubtnut.com/l/_nPjpXi5O7GK2

18. Two sides of a triangle are /3 + 1 and

v/3 — 1 and the included angle is 60°. The
difference of the remaining angles is

A.90°

B.60°

C.45°

D.30°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nPjpXi5O7GK2
https://dl.doubtnut.com/l/_pV9JZRLodSIM

19.In a triangle, the length of two larger sides
are 10 and 9 respectively. If the angles are in
AP, then the lengths of the third side can be

A5+ .,/6

B.5 — /6

C.3,/3

D.5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_pV9JZRLodSIM

20. If the sides of a triangle are 3cm, 2cm and
4cm then the cosine of the greatest angle is

equal to

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_f0mQ0cPretNG

21.1n any AABC, Za?’ sin(B — C) is equal
to

A.ab + bc + ca

B.3(a + b+ ¢

C. 3abc

D.0

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ULdlarEexMod
https://dl.doubtnut.com/l/_dL3XZsBq84ji

22. If D is the mid-point of side BC of a
triangle ABC and AD is perpendicular to AC,
then

A.a® +b? = 5¢°

B.3a® = b* — 3¢’

C.b: =a®— ¢

D.3b% = a? — ¢

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_dL3XZsBq84ji
https://dl.doubtnut.com/l/_cqZY7kcOmpSI

23.If in a AABC, asin A = bsin B, then the

triangle is

A. Equilateral

B. Right-angled

C. Isosceles

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_cqZY7kcOmpSI

24. If in a triangle ABC,ADBE and CF are
altitudes and R is the circum-radius, then then

radius of the circle DEF is

a2
2

B.R
C.2R

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_o1ktW6lu3ARo

25.1f in a triangle , /B = 45°,a = 2(\/3 + 1)
units and the area is 6 + 2,/3 sq.units then

the side b is equal to :

A.v/2(y/3 + 1) units
V3 +1

V2

B. units
C. 4units

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hhhm8en23LFF

26. If the lengths of the sides of a triangle are
3, 5, 7, then the largest angle of the triangle is
A.3m /4
B.27 /3
C.57/6

D.7 /2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_gDdfhQF7MtGz
https://dl.doubtnut.com/l/_vGYmw1dRDIuF

27.Ina AABC ,a(bcos C — 0sB) is equal to

A0
B.b — ¢
C. a2

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vGYmw1dRDIuF

28. If A is the area and 2s the sum of three

sides of a triangle, then

g2
2
2

B.A>8—
V3

82

3v/3

A A<

CAL

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_rBMQYwsRvZQ5
https://dl.doubtnut.com/l/_Ltrn4MQlvJZ4

29, In a triangle ABC,
(a+b+c)(b+c—a) = Abcif:

Ao< <4

B.A >4

CA<O

D.A >0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ltrn4MQlvJZ4

30. Let R be the circumradius of AABC. Then

A.cos B — cosC
B. cos(B — ¢)
C.sin(B — C)

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xPHTOU8lSPwW
https://dl.doubtnut.com/l/_3zIGYQ6oqMQu

A B
31. In a AABC, tan. > and tan. > satisfy

6x> — 5z + 1 = 0.Then:

Aa® —b =c
B.a’ + b = ¢
Cal4+b®>¢

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_3zIGYQ6oqMQu

32. Two sides of a triangle are 2v/2cm and
2,/3cm. The angle opposite to the shorter

side is % The largest possible length of the

third side is

A. (6 + \/i)cm

B. (v6 — v2)em

1
C. <\/6 + ﬁ)cm

D. None of these

Answer: C

I ° WA _ L _L w2 ldl_ _ e~_1_..0°_



https://dl.doubtnut.com/l/_MGWa33kX9aOa

L vvdailil viUCO o0VIULiOIlI )|

33.In a AABC, a=2b and |A — B| = %

Then ZC'is

SERNERIE

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_MGWa33kX9aOa
https://dl.doubtnut.com/l/_62sOsKNqgxKV

34. If in a AABC,

sin® A + sin® B + sin® C = 3sin Asin BsinC
a b c

,then|b ¢ a|equals

c a b
A.0
B.(a + b+ c¢)(ab + bc + ca)
C.la+b+c)’

D. None of these

Answer: A

[ 1


https://dl.doubtnut.com/l/_62sOsKNqgxKV
https://dl.doubtnut.com/l/_FEghcOivZqBn

I o Watch Video Solution

. a b
35.1fina AABC, A COSB,then :

A . 2sinAcos B = sinC

B.2sin AsinBsinC =1

C.sin? A + sin’ B = sin’C

D. None of these

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_FEghcOivZqBn
https://dl.doubtnut.com/l/_R6j0dt3YjbFx

Level li

1.1f in AABC , cot A, cot B, cot C are in AP,

then

A.a, b, carein AP.
B.a%, b?, ¢ are in AP.
C.cos A, cos B, cos C are in AP.

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SfLYMElwVMi9

2.The sides of a triangle are in AP and its area

3
is 5 X (area of equilateral triangle of same

perimeter). Then the ratio of the sides to :

Al:2:3

B.1:3:5

C.3:5:7

D. None of these

Answer: C

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_SfLYMElwVMi9
https://dl.doubtnut.com/l/_YUW6Jt4dJ9dX

3. In the figure, ABC' is a triangle in which
ZC =90° and AB = 5cm. D is a point on
AB such that AD = 3cm and ZACD = 60°.

Then the length of AC'is

C

A < 3cm » D B

A.—cm

V7


https://dl.doubtnut.com/l/_YUW6Jt4dJ9dX
https://dl.doubtnut.com/l/_ecoyr7ABFZqB

B Zcm
' 3

C.5 5
. 7cm

D. None of these

Answer: C

o Watch Video Solution

acos A + bcos B + osC
a+b-+c

equals: where R and r are circum-radius and in

4. In AABC,

-radius respectively


https://dl.doubtnut.com/l/_ecoyr7ABFZqB
https://dl.doubtnut.com/l/_lWpYVhgqKmpb

3 | =

N Y ¥|w =

Answer: B

o View Text Solution

5. The ratio of R : r of an equilateral triangle is
: where R and r are circumradius and inradius

respectively


https://dl.doubtnut.com/l/_lWpYVhgqKmpb
https://dl.doubtnut.com/l/_VHkovnsNXR2l

Al:1
B.2:1
C.3:1

D.2:,/3

Answer: B

° View Text Solution

6. H.M of exradii of a triangle is

A 2R


https://dl.doubtnut.com/l/_VHkovnsNXR2l
https://dl.doubtnut.com/l/_KqGYIia0aHMQ

B.3r

CR+r

D. None of these

Answer: B

o Watch Video Solution

7. In AABC, the inradius and exradii are
r,T1,T9 and rz respectively. Then r.r;rors

equals


https://dl.doubtnut.com/l/_KqGYIia0aHMQ
https://dl.doubtnut.com/l/_7eVXUZxIi71x

A. A?

B.2A

abe

C.—
4R

D. None of these

Answer: A

o Watch Video Solution

A
8.In any triangle ABC, sin. ) is

b+ c
2

A. less than


https://dl.doubtnut.com/l/_7eVXUZxIi71x
https://dl.doubtnut.com/l/_idCqLgOq5ZCP

2a
a+b-+c

B. greater than

a
b+ c

C.less than or equal to

D. None of these

Answer: C

o Watch Video Solution

9.In AABC, cos A 4+ cos B + cosC' > 1 only

if the triangle is

A. acute-angled


https://dl.doubtnut.com/l/_idCqLgOq5ZCP
https://dl.doubtnut.com/l/_iWClVolh231e

B. right-angled

C. obtuse-angled

D. Nothing can be said about the nature of

the triangle.

Answer: D

o View Text Solution

10. Let Ao,Al,AQ,Ag,A4 and A5 be the
consecutive vertices of a regular hexagon

inscribed in a circle of radius 1 unit. Then the


https://dl.doubtnut.com/l/_iWClVolh231e
https://dl.doubtnut.com/l/_8jqmMKOZAn8B

product of the lengths of AyA;, AgAs and

A0A4 is

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8jqmMKOZAn8B

M.Ina AABC, if D is the middle point of BC
and AD is perpendicular to AC, then cosC

equals

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_M65ONU5tpdQz

12. If the angles of a triangle ABC satisfy the
equation :
8151°% | 81’ — 30 then the triangle can't
be

A.right-angled

B. isosceles

C. equilateral

D. obtuse-angled

Answer: A

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_pQSl383qP7Zm

1B.If n,n+1,n+ 2 where n € N, represent

the sides of a triangle ABC, in which the

largest angle is twice the smallest, then n is

equal to

Al

B. 2

C.3

D.4


https://dl.doubtnut.com/l/_pQSl383qP7Zm
https://dl.doubtnut.com/l/_qRZkEfuFAHy6

Answer: C

o View Text Solution

14. If in AABC,
cos A __cosB cos C L then -

7~ T19 25 vthens

1

-7 25 19

25 —% 7 equals

1

19 7 -7

A0

B. 26 — sec® C

C.32 — sec’ B


https://dl.doubtnut.com/l/_qRZkEfuFAHy6
https://dl.doubtnut.com/l/_IQHiTilU2AYg

D.42 — sec® A

Answer: A

o Watch Video Solution

a b c

15. In a AABC, if |b ¢ a| =0, then :
c a b

sin A sin B + sin Bsin C + sin C'sin A equals

A0

B.1


https://dl.doubtnut.com/l/_IQHiTilU2AYg
https://dl.doubtnut.com/l/_7I16R6CRu3xt

C9
4

D.cos? A + cos? B + cos® C

Answer: C

O View Text Solution

16.Ina AABC,if A = 18°,b — a = 2,ab = 4,

then the triangle is

A.right-angled

B. isosceles


https://dl.doubtnut.com/l/_7I16R6CRu3xt
https://dl.doubtnut.com/l/_eDf9TdR97u31

C. acute-angled

D. obtuse-angled

Answer: D

O Watch Video Solution

17. The perimeter of a triangle, right-angled at
C, 70, and the in-radius is 6, then |a — b

equals

Al


https://dl.doubtnut.com/l/_eDf9TdR97u31
https://dl.doubtnut.com/l/_NMj0m4aehNiE

B.3

C.7

D.9

Answer: A

o Watch Video Solution

18. If in a AABC, sines of angles A and B
satisfy :
42> —2,/62 +1=0 then cos(A — B)

equals


https://dl.doubtnut.com/l/_NMj0m4aehNiE
https://dl.doubtnut.com/l/_IaveecRrODnZ

%

o

Q)
<|| |<‘ N | =
— DN
() W

Answer: B

o Watch Video Solution

19.In AABC, if the median AD makes an angle

0 with AC,and AB = 2AD, then sin 6§ equals


https://dl.doubtnut.com/l/_IaveecRrODnZ
https://dl.doubtnut.com/l/_FX8Uq4ovgM22

A.sinC

B.sin B

C.sinA

D. None of these

Answer: C

o Watch Video Solution

20. In a AABC, if
Re(sinA + sin B + sinC) = 96, then the

area of the triangle in square units, equals


https://dl.doubtnut.com/l/_FX8Uq4ovgM22
https://dl.doubtnut.com/l/_RXO5BjukYadi

A. 24

C. 72

D. 96

Answer: D

o View Text Solution

A
21. In a AABC, if cot.Ecot.gzc,
t B t ¢ = d t ¢ t A =3)
cot. 5 cot. 5 = a and cot. 5 cot. 5 = b

1 1

- +

then
s —a s—b s —c¢

equals


https://dl.doubtnut.com/l/_RXO5BjukYadi
https://dl.doubtnut.com/l/_KYKIUTlaaLUi

A.0

B.1

C.2

D.3

Answer: C

° Watch Video Solution

22. The distance of the incentre of AABC

from A'is


https://dl.doubtnut.com/l/_KYKIUTlaaLUi
https://dl.doubtnut.com/l/_uUOGIFViXeem

A
A 4R sin. —

2
B. 4R sin. E

2

B C
C.4R sin. ?sin. 5

D. None of these

Answer: C

o Watch Video Solution

’

23.Ina AABC, if cot A = (333 + 22 4 33)1/2

1/2

cot B= (z+z ' +1) and


https://dl.doubtnut.com/l/_uUOGIFViXeem
https://dl.doubtnut.com/l/_2Palgp9BSDzB

~1/2

cot C' = (:13_3—|—w_2—|—:c—1) , then the

triangle is

A. isosceles
B. Right-angled
C. acute-angled

D. obtuse-angled

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_2Palgp9BSDzB

b+ c

24. If in AABC, T

then cos A equals :

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ALnYyHBoJaBQ
https://dl.doubtnut.com/l/_io4HJhetwPEI

25. If py,py,p3 are respectively the
perpendiculars from the vertices of a triangle

to the opposite sides, then p;psp3 equals

a’b?c?
2R3
a?b?c?
4R3
a?b?c?
SR3
a’b?c?

D.
16R3

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_io4HJhetwPEI
https://dl.doubtnut.com/l/_vh8itbL62WKR

a b
26. If = =
cos A cos B cos

A. isosceles

B. Right-angled

C. equilateral

D. obtuse-angled

Answer: C

, then triangle

o Watch Video Solution



https://dl.doubtnut.com/l/_vh8itbL62WKR

27. If 2 =a’+ b, then
4s(s — a)(s — b)(s — c) equals

A. s*

B. a’b’

C. b2

D. c2a2

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_m1OQ3WFKRE0O
https://dl.doubtnut.com/l/_PudKoSSBjP99

28. If the lengths of the sides of a AABC are
3,4 and 5cm , then the distance between its

incentre and circumcentre is

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PudKoSSBjP99
https://dl.doubtnut.com/l/_o2PDPgtH4pEe

29. If the lengths of the sides of a AABC are

3,4 and 5cm , then the distance between its

orthocentre and circumcentre is

A. 2cm

B.2.5cm

C.1l.5em

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_o2PDPgtH4pEe

30. If AB,C are the angles of a triangle, then

C
the value of cot. — + cot. — <+ cot. — is

2 2 2

w | 5

> % | > =

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_YJZgp0EkRqAi
https://dl.doubtnut.com/l/_EIc9bR1zr391

31. The area of a circle is A7 and the area of a

regular pentagon inscribed in the circle is As.

Then A; /Ay is

27 T

A. ? sec. 1—0

27 i
B. —cos. —

5 10

2T i

C. ?cot. 1—0

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_EIc9bR1zr391
https://dl.doubtnut.com/l/_p4uPjksSRNER

1
32.1In a triangle ABC, 2acsin. §(A — B+ C)
is equal to:
Aa®+ b —¢
B.c’ +a® — b?
C.b* — ¢ —a?

D.c2 —a’ — b

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_p4uPjksSRNER

33.1In a triangle ABC, let ZC' = 7w /2. If r is the
inradius and R is the circum-radius of the
triangle, then 2(r + R) is equal to :

A.a+b

B.b + ¢

C.c+a

D.a +b+c

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LI6XlkKFGXsK

34. The number of distinct real roots of

SINLX COSXL COSI
cosx sinx cosxz| =0 in the interval

COSXL Ccosx Ssinx

_7T 7'('.
— <z < —s:
4 4

A.0
B.1
C.2

D.3

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_Q6kXA6d6tCGt

A-B+C

35.In a triangle ABC, 2ca sin.

A a? + b — ¢

B.c2 +a®> — b

v’ —c —a?

D.c2 —a® — b

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Q6kXA6d6tCGt
https://dl.doubtnut.com/l/_vZioggkNIN3w
https://dl.doubtnut.com/l/_EXj04qpft49a

A
36. In a AABC, tan. 5 =
then
A.a,c,barein AP.
B.a, b, carein AP.
C.b,a,carein AP.

D.a, b, care in G.P.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_EXj04qpft49a

37.In a triangle ABC,a = 4,b = 3, ZA = 60°,

then cis the root of the equation

Acc—3c—T=0

B.c2 +3¢c+7=0

C2—3c+T7=0

D.c®>+3¢c—7=0

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FsesLcjz5RuF
https://dl.doubtnut.com/l/_KHIL8guTN2Bq

38. In a triangle with sides

a,b,c,r; > ry > r3(which are extradii), then

Aa>b>c

B.a<b<ece

C.a >bandb < ec

D.a < bandb > ¢

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KHIL8guTN2Bq

39. The sides of a triangle are 3x + 4y,

4x 4+ 3y and dx + 5y , where =,y > 0, then

the triangle is

A.right-angled

B. obtuse angled

C. equilateral

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SnkU4sIdNaVg

40. Which of the following pieces of data does

NOT uniequely determine an acute angled

triangle ABC (R being the radius of the

circumcircle) ?

A.a,sin Asin B

B.a, b, c

C.a,sinB, R

D.a,sin A, R

Answer: D

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_EIStIlHoV5WD

41. If in a triangle ABC,
s C 2

a COS Y + cos”. 5 = 5 then the sides
a,b,c

A.arein G. P.

B.arein H. P.

C.satsifya + b =c

D.arein A. P.

Answer: D



https://dl.doubtnut.com/l/_EIStIlHoV5WD
https://dl.doubtnut.com/l/_SxTER8wVBgXu

| @ watch Video Solution ]

42. In a triangle ABC, medians AD and BE are

drawn . If AD =4, LDAB:% and

/ABE = %, then the area of the AABC'is

16
3
32

W

c 84
"3

D8
3

Answer: B



https://dl.doubtnut.com/l/_SxTER8wVBgXu
https://dl.doubtnut.com/l/_HXpCZ3WN8g3Y

\ o Watch Video Solution

43. The sum of the radii of inscribed and
circumscribed circles for an n-sided regular

polygon of side 'a' is

. T
°4CO(2n>

T
B.acot(—)
n

c. 2 t(w)
.2CO 2n

D-acot (3, )
. a CO o

Answer: C


https://dl.doubtnut.com/l/_HXpCZ3WN8g3Y
https://dl.doubtnut.com/l/_OR3PhfdoFqBA

° Watch Video Solution

44, The angles of a triangle are in the ratio
4:1:1, then the ratio of the largest side to the
perimeter is

Al:1+,/3

B.2:3

C.vV/4:2+ /3

D.1:2—|—\/§

Answer: C


https://dl.doubtnut.com/l/_OR3PhfdoFqBA
https://dl.doubtnut.com/l/_ITkVJHAGFYFD

° View Text Solution

45.The sides of a triangle are sin «, cos a and

s
v1+sinacosa for some 0 < a < 7 The

the greatest angle of the triangle is

A.60°
B.90°
C.120°

D. 150°

Answer: C


https://dl.doubtnut.com/l/_ITkVJHAGFYFD
https://dl.doubtnut.com/l/_t6otzAPjEtfn

° Watch Video Solution

46. The sides of a triangle are in the ratio
1:4/3:2, then angles of the triangle are in the
ratio

A1:3:5

B.2:3:4

C.3:2:1

D.1:2:3

Answer: D


https://dl.doubtnut.com/l/_t6otzAPjEtfn
https://dl.doubtnut.com/l/_OZmDdXo2HPbd

° Watch Video Solution

47. If in a AABC, the altitudes from the
vertices AB,C on opposite sides are in H.P,

then sin A, sin B, sin C are in

A A P.

B.G. P.

C.H.P.

D. Arithmetic-Geometric progression

Answer: A


https://dl.doubtnut.com/l/_OZmDdXo2HPbd
https://dl.doubtnut.com/l/_sJYttwoSpheT

° Watch Video Solution

48. If a,b,c are sides opposite to the angles

A,B,C, then which of the following is correct ?

A B+C
A.(b+c)cos.—=asin( 1l )

2 2
B—|—C’> A

= asin. —
2

2
B-C A
C.(b— c)cos( ) = @ COS. —

B. (b + c)cos(

2 2

A . (B-C
D.(b—c)cos.?:asm( 5 )

Answer: D

| 8 l


https://dl.doubtnut.com/l/_sJYttwoSpheT
https://dl.doubtnut.com/l/_fWWKK8dPsVrv

49, A triangular park is enclosed on two sides
by a fence and on the third side of straight
river bank. The two sides having fence of same
length . The maximum area enclosed by the

park is


https://dl.doubtnut.com/l/_fWWKK8dPsVrv
https://dl.doubtnut.com/l/_Xmbz68pmmnIu

Answer: C

° Watch Video Solution

50. Internal bisector of /A of triangle ABC
meets side BC at D. A. line drawn through
D perpendicular to AD intersects the side
AC at E and the side AB at F. If a, b, ¢

represent the sides of AABC, then :

A. Ae is H.M. Between b and ¢

2bc A

Cos. —
b+c 2

B.AD =



https://dl.doubtnut.com/l/_Xmbz68pmmnIu
https://dl.doubtnut.com/l/_CdjqQE2q2h2m

4bec . A
sin. —

CAF =
b-+c 2

D. the triangle AEF is isosceles

Answer: A::B::C::D

° View Text Solution

Latest Questions From Aiee Jee Examinations

1. For a regular polygon, let » and R be the

radii of the inscribed and the circumscribed


https://dl.doubtnut.com/l/_CdjqQE2q2h2m
https://dl.doubtnut.com/l/_TQRXFBbr1ayS

circles. A false statement among the following

IS

A.There is a reagular polygon with
B.There is a reagular polygon with
C.There is a reagular polygon with

D.There is a reagular polygon with

V3
T2

I
R


https://dl.doubtnut.com/l/_TQRXFBbr1ayS

Answer: C

o Watch Video Solution

2.If the angles A, B and C of a triangle are in
an arithmetic progression and if a,b and c
denote the lengths of the sides opposite to
A, B and C respectively, then the value of the

. a . Cc . .
expression —sin2C + —sin2A is :
c a

| \W)
(SG]


https://dl.doubtnut.com/l/_TQRXFBbr1ayS
https://dl.doubtnut.com/l/_hogpkLEuXYID

C.1

D. /3

Answer: D

o Watch Video Solution

3. Let ABC be a triangle such that

LACB = % and let a,b and ¢ denote the

lengths of the sides opposite to A, B and C

respectively. The value (s) of x for which


https://dl.doubtnut.com/l/_hogpkLEuXYID
https://dl.doubtnut.com/l/_H55v1o8pnJP9

a=z’4+z+1L,b=z>—1and c=2z +1

is (are)

A —(2++/3)
B.1+ /3
C.2+ /3

D.4,/3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_H55v1o8pnJP9

4. Let PQR be a triangle of area A with a = 2

7 5

, b= 3 and ¢ = 3 where a,b and c are the

lengths of the sides of the triangle opposite

to the angles at P,Q and R respectively. Then

2sin P — sin 2P
2sin P + sin 2P

equals

A 3
T 4A

5 45
T 4A

(5)
- (2)

Answer: C


https://dl.doubtnut.com/l/_1FllIGnENipL

° Watch Video Solution

5. ABCD is a trapezium such that AB and CD
are parallel and BC 1 CD. If ZADB =6,

BC = pand CD = g,then AB is equal to

2 2
+ g“ cos 0
A D q

" pcosf + gsinb
P+ ¢
" p?cosf + ¢2sinb
(p2 —|—q2)sin9
. (pcos @ + gsin)*
(p2 +q2)sin0
" pcosf + gsinf

B



https://dl.doubtnut.com/l/_1FllIGnENipL
https://dl.doubtnut.com/l/_RB6aug5sbJnj

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RB6aug5sbJnj

